Justin Beck 

HC_______

Date due: 2/13/98

Date:2/ 9/98, 2/10/98, 2/11/98, 2/12/98

Title: Constructing a model of DNA replication

Purpose:  To investigate the makeup and function of DNA using visual aids.

Materials: 


Colored construction paper


Metric ruler


Scissors


Transparent tape

Safety: 

Be cautious in use and care of the scissors. Do not run with scissors, or carry them facing you or a classmate.

Procedure:

1. Cut out the pieces of construction paper according to the given chart

2. Write the appropriate name on each of the pieces of paper.

3. To make  a DNA nucleotide, tape together in the correct fashion, a phosphate group, a sugar and a guanine.

4. Assemble 8 more using these nitrogenous bases: T, T, A, C, A, A, T,C.

5. Attach the newly completed models together by taping the sugar of one onto the phosphate group of the next.

6. Construct another nucleotide chain like the first but do not tape the two strands together!

7. Separate the two strands and use each to make a new complementary strand.

8. Reassemble the original strand..

9. Tape this model of DNA together at its nitrogenous bases.

10. Using the base-pairing rule, make a complementary strand for each of the single strands of DNA you made in step 6. Tape the two together at their nitrogenous bases.
Observations:
1. What is the sequence of nitrogenous bases in the complementary  strand of your original DNA model?

The sequence of the complementary strand is the reverse of the original strand. It is C, T, A, A, C, A, T, T.

2. How many models of DNA did you construct from your original model of DNA? What is the base sequence for each of these new models.

There were three, the strand that was paired with the original and the complementary 2 strands that I made from the first two.
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Analysis and Conclusions

1. Why do you think complementary base pairing is necessary for replication?

This is necessary so that two molecules that are identical and to the original can be created.

2. Compare the base sequence of the original DNA model with the replicated models. Compare the base sequence of the replicated models.

The base sequences of the original model are opposites of each other inside the base pairing. The same goes for the complementary strands.

3. If each triplet of nitrogenous bases on DNA code for a specific amino acid, how many amino acids will your original DNA model code for?

Our original model would code for 3 amino acids.

